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Zwjuunwith Zwipuy knnppub wyhnwlub pogtkh dhengliiph hwoyht hpuwbgynn qgunudbbph
nbupmu

Nuunfhpuwnnmt  Upwpunh dupgh bnkquuih ginuyuy bnwpub

‘( puw prarpbwnuyhl Swjuukph gbpunnkuswipnl puuwlupguwl)

Onpwghpp

Uljuinup Uwywpuwnh yuwbywindwh dwhukp

pwdht 1 funudp 1 nquu 1 dpughp S1

(puwn piniplvuyhl Swpuukph gnpéwnlmljul puuwlpupguul)

Uhgwlighly Qudwl Quithdwl Uhwynph | Chgundbip | Lwiul
innp puwn Uy pubpttph Swnwympymubkph b alp dhunjnpp ghup swifuubkpp
CPV wohmunwipbiiph winjuwimydubkpp /pupugu /mpuiny/ | /hwq.ppud/
B—— Yupgp/
quul
T 2 3 4 5 6 7
UNLULR
QLELUYUL MPSNPR3LLES BY
Q. UUBL3UYUSPL NMULUSULEN
30197622 poiunp A-4 /xerox/ PLUZ hunn 1900 66.5 35
39263200 gpuukyuljuyhti ghpp /92 pbpp/ PLUZ hwn 500 2.5 5
30192160 sniphfu RLCUZ hun 250 2.5 10
30234300 quunupl ujujunul PLUZ huwwn 100 4.0 40 !
- 22811170 pnudubkph pounp PLUZ huwn 100 2.0 20
2851200 pnpwywiwl ndqud PCUZ huwn 150 3.0 20
30197233 prpwywbwl phikpng PLUZ hun 80 1.6 20
30197231 ppwywiulu $uy PLUZ wnnith 1000 5.0 5
30197232 pnpwwywbwl wpuquiljup PLUZ huwn 80 3.6 45
30197232 pnpwwwbwl wpwquljup/ PLUZ huwiwn 170 34 20
goibuynp/wjuunhl
30197233 | pppwywhwl pkghuwnp /Epljonqulwih / PCUZ hun 800 4.0 5
30192137 duwnhwn /hwuwpuly/ BCUZ hunn 70 0.7 10
30197100 | Ywphsh dbwnmwnuupk juybkp /Adhght/ PCUZ wnith 100 2.0 20
30192128 qphs /qunhlijudnp/ PLCUZ hun 150 7.5 50
35821400 npng PCUZ huitn 2500 5.0 2
30141210 huwoyhs dkpklw PLUZ huin 2200 2.2 1
24911200 unuhd /kunyuhu/ PLUZ huwn 200 2.0 10
30192730 puthwiighly upsnih uqu PLUZ huwwn 100 2.0 20
22811120 npudwplnuiht Eph opnlip PLUZ hunn 5 0,5 100
22811120 npudwplnuiht Ununph opnkip PCUZ huwwn 5 6.0 1200
30197332 yuiphy/ihohty/ ALU hun 1750 35 2
30234640 $1to hhonnmipynit 16 gp PLUZ huin 9000 9.0 1
30192700 Nnudwnbnuitht: ahnp PLUZ hun 3000 3.0 1




30199231 twdwyh dpup dhohti swhup PCUZ hwin 20 1.0
30199232 Opup, Uks A4 $npdunnh hwdwp PLUZ huwn 50 15
30192710 Unubdundwwnhwn gpuukbjuljuyhi PCUZ hun 180 0.9
30192720 Q&wiliphs /dwplykp/ PLUZ hwin 200 1.0
30192135 Qpudhunt vhonil duwnhnh hwdwp PLUZ huwn 80 0.4
30192136 Uwwnhwn gpudhunk FCUZ hunn 250 0.750
Uhoniynd/dkuuthjuljwiy
30192700 Lwlinti nnhy, gdwpwdwinudukpny PLUZ hwwn 70 0.350 5
30192100 (tknht hwuwpul vhoht swthuh £CUZ hunn 100 0.6 6
30192760 Uphs PLUZ hwwn 250 1.0 4
22800000 nuykplppe PLCUZ hun 200 1.0 5
punudkip 150.0
Spwbuynpuuht ynipkp
09132200 Pklught / nkgnijjup/ PLUZ Lhwp 315 148,050
09132200 Pkught / nkgnijjup/ PLUZ 1hwp 360 151,200
09132200 Pkughl / nkignujjup/ PLUZ 1hwp 300,750
09121700 Puwlul quiq PLUZ Jud 165 300.0
punuukup 900.0
Utpklubibtiph owpdhstibph dwukp b
wupuquikp
Uyputip
50111300 UlnJwnnn 215/65 R15 H202 PLUZ hun 22000 88,0
50111300 Ulijuyny 215/55 R16 2000 RLUZ hun 26000 104,0
punudkip PLUZ npud - 192.000
Uy puiip
45461100 Chtwiymp hwdwjlipuyknwpuih -- e - 183.650
pupwghl inpnguwt hwdwp
45461100 Ludy PLUZ hun 300 12
45461100 Ugundunn whgwwnhy PLUZ hunn 7500 15,0
45461100 MNnbdk hwunnpyuup PCUZ Ubwnp 150 0,150
punquudtin 200.0
Stunbkuwlub b vwbhhghkuhl ymptp
39812600 Uhunwhwihy dwppnn vhgng PLUZ hunn 400 1.6 4
398312800 Uwulh jJubayn hkngniyy 1) RLUZ hwwn 1800 1.8 1
39812100 Zunnwly Ywppnn htnoly 2 PCUZ hunn 2500 2.5 1
39812410 Yuhnijph thuyjkgiing dhong 0.5 1 PCUZ hwwn 2600 2.6 1
39812600 Uujuuph (Jugdwb hknnily PCUZ hunn 500 2.0 4
39811300 Znunwgkpénn dhong PCUZ huwn 500 1.0 2
39831272 Uynitq whuk jJubiwyne PCUZ hun 100 0.5 5
39800000 Zunnwly wippbnt gnpdyjudp RCUZ hwwn 600 1.8 3
/wnihukpuyhly/
39221470 Uty AU hun 900 18
39221140 Unipéh puduljnbp PLUZ wnih 5000 5.0
39221140 @hh pudwljukp PCUZ wnuth 7000 7.0
39513200 Uldkenghlukp /Eplokpun/ FCUZ hunn 240 24
Cunudkip 30.0
OuNuUsNkrE3NFL
Uwutughnwljub Suipwjnipintb PLUZ npud = 57.744
79131300 EjEjunpniiughh mnnpuigpnipyub PCUZ npud hunn 3.0
uyyuuwpluwb J&up
76130000 Guquuuyupedwb hwdwljupgh PLUZ npw - 12.536
uyuuwpldwb J&wp
22211100 << Upunnuljupg>>pkpph PCUZ hun 48 6.720
pwdwlinprugpnipyoil
9900000 | W/h 11 a/b nnihinnifininmailmds huiduibunah £LUZ nnud 33400 334




uyuuwpluwhb J&wp

72200000 nbnkjunjujuijuwi hudwlwupgh PCUZ npud 10000 120.0 12
uyjuuwpliwb J&wp
32412120 | huwnkpibn juyh Swowympjub wpdtp PCUZ npud 11000 132.0 12
32412120 | Gupwwnhpnyph /gnukuh/ uywuwpldwh PLUZ npud 12000 12.0 1
y&wp
64211130 Poowht hknwjunuwluyh FCUZ npud - 130.0 3
Swnwynipynii
79100000 hpwjwpwbwlwh Swowjnipinth PLUZ npud 7 150.0 =
09121700 qugh Jupd PCUZ fud 139 400.0 2878
09000000 . Eukpghugh Jupd PLUZ yw/d 45 600.0 13333
71631120 Swpwnnuijwl w/d nk.quimd PCUZ npud — 25.0 2
90720000 Phuyuwhywhwlwh wywpnwunhp e i - 50.0 -
J&wpukp
66514100 | sSwpwnnujui w/A wywhnjwgpuydwp PCUZ npud o 60.0 2
22211100 plipph pudwlinpyugpnipinii PLUZ npud - 89.0 2
50311120 huwdwljupgyuyhs uwupp PLUZ npud = 108.0 --
uwppuwynpnidiph uywuwplynud
pluguudkip - 108.0 --
Utpktmtikph ppwghly tinpngmd b
unkhoyuuwplynud 89,0
Ownujnipjnil
42121530 | Nhwnhitt wywln dwpphsh wknunppnud 11,0
punuudkip 100.0
Qinud shwiinhuwgnn Swhiu
99000000 woliunuupd -- npud 15900.0
995000000 Ugpuununjwpd /wyupghunpnid/ =2 npud 1050.0
Uy puiip
30237100 Zwdwljupghs PCUZ npud 800,0 -
Upjuunnuip
45111440 Zundwyipwyy bvnuputth hwpulhg ac npud 2600,0
wnwpudph pupkiwpgou
punuukin npud 2600,0
71241200 ‘Lwhwugdu-hbnwgnunujub PCUZ npud i 400.0
wohnuwnwiphibp
punuukup npud 24311.4 /
Opwgph winjwinuip Lwhmugyponguljub Yppmpntt
pwdhit 9 junwdp 01 quu 01 dpwghp 51
Qiumud shwhnhuwgnn wy) dwhiukp
99000000 plpwghl npudwptnphikp 20049-hu npud 7927.0
punudtup npud 7927.0
Opwqgph winjwinudp Chnhwbmp pinyph wy) Swn-b
pwdhli 1 junwdp 3 quu 3 dpwghp 51
Ownuynipjnii
50310000 Cughwinip plinyph wy] Swownipnil 1100.0
09120000 Zwljulwplyunught juyutph PCUZ fud 750 70.0 93.33
quiqui hgpwnpoid
punudkinp 1170.0
Opwgph winjwinudp Snuyph tjundwdp hpuyniiph
qpuignud
pudhti 01 fjunudp 06 nuiu 01 dpwghp 52
Ownunipjnii
70330000 YQuinuuwnwpih npud 200.0
Swnwympnil/ gnuyph
qpuignid/




. 72160000 ykwn nnipp/yyupinunhp
J&wpukp/
plnunikip
Opwgph winjutmudp Lihpunynpinih wy) puhnyp
shknwuyinny juquwlkpynpynibtkpht
Pwdht 10 funwdp 07 quiu 01 dpwghp 55
Qunud shwiinhuwgnn dwhiu
99000000 1 punudkp
Opwgph winjwinuip Cpgwlw dpguijuyph
wuonuwbm pinth /Unpuhwbin pjm b/
Pwdhti 05 funudp 01 quiu 01 dpwghp 51

Uyjpulip
09134200 Yhqbjughtt Junkihp PCUZ
/undwnuht/
Qunud shwinhuwgnn wy
Swhaukp
99000000 woluunujwpd
' punuudkip
Opwqph wijwimd Zwdwjipuht Upwynyph b wquin
dundwiigh juquwlkpuymd
Pwdht 08 fundp 02 quu 03 dpwughp 51
Uy putip
39220000 Udwbopyu ]kpukp PLUZ
/Epkluwbbkphty/
39221140 ] tplukp/gnupuipliul PCUZ
Ywhwhg vhg. opju wnphy/
plgudtip
Ownwjnipjnil
55241200 2wbquunh juquulkpynud PCUZ 2
puguidtip
Opwgph winjwbmd Zwhghun dpwlnye ypnt
Pwdhli 08 junudp 05 nuiu 01 dpwghp 51
Unyputip
Uy puiph dknp phipnud
Anplnkqht b hunfwjuph
hhdbwunpuwb opdut
tdhpyud/
03321300 Nshawp PCULZ huin 495000 297.0 6
15911100 Onh PCUZ Zun 1200 48.0 40
15981100 Zwlpuyht gnip PCUZ Zunn 250 10.0 40
15981500 Onyugnighy puwtihp PLUZ Zunn 250 10.0 40
15331178 Nwhwénjuglud pubgupknki PLUZ hunn 800 12.0 15
15540000 Nuwlhp PCUZ Yq 2000 10.0 5
15911300 Uniyul PLUZ Zuwn 2000 40.0 20
03200000 Yupunndhy PCUZ Uq 200 6.0 30
03210000 Zwg FCUZ Zunn 200 10.0 50
33141118 Ubdknnghl PCUZ Zunn 200 4.0 20
punudkip 150.0
39220000 Uunnwihibp tnpuujuwy PCUZ gpud 15000 217.500 14.5
qnugkppt
Ownuijnipjnil
79220000 Zwiplyynn wy) Eywinunikphg -- npud 33000 33.0 1




£ Ejwdwnwghts huiply
22100000 qppkp PLUZ npud 3 2.5 -
pugudEup 700.0
55241200 Zwlqunh juquulkpynid -- - 60.0 -
Uypulip
22400000 Sndubkph dtnp phpmu PLCUZ npwu 300 40.0 133
pluguidkip 100.0
Sunwd shwbinhuwgnn wyy
Swuukp
99000000 woliunwywpd 4650.0
Uphuunnuitip
45261167 Usuiljnyph b BLUZ npud - 990,0 =
ohttwpuipupnipinih
4530000 Uswlnyph b juuhwnuy PLUZ npwd = 990,0 =
YEpwbinpngnid
Uwpubip
39151100 Ubnuhiukp PLUZ npud = 600,0 ¥
39151100 Upnnikp PLUZ npud -~ 300,0 -
Cunudkup 8330,0
Unghwjulwl wwownywbnipimb
Pwdhl 10 jumup 07 nuu 01 dpwghp 54
Qunud shwbinhuwgnn wy
Swifuukp
75310000 wyj] byywuntikp pymgkhg npud 2000.0
75310000 hnuquipuynpm pjut huyywun npud 400.0
Cunudbup 2400.0
Opwgph wijuimup Fwpdpmgnyl Yppopymi
Pwdht 09 junidp 04 quu 01 Spwghp 54
80300000 Yppwlwi buyywumnlikp pinigkhg npud 200.0
puguukip 200.0
Opwgph wijuwinud Upwnwpht jnuuun]npnipyub
| gwlgh hhdtwtinpngmu /thnn. iniuwynpoipynity/
Pwdhl 06 junudp 04 quu 01 dpwghp 51
Owpwjnipym b
65310000 | El. Rukpghuyh Jupd P£LUL Yywn/d 45 800.0 17777
Uypubip
44300000 [nruwinnt uwppuwynpnudubiph b - 5.4 -
wihpwdbon ywpwquikph dknp
phpnud
44300000 unnnduly 75ud PLUZ Ukwnp 2700 210.6 78
44300000 unnnduly 63ud PLUZ dkwp 1800 140.4 78
44300000 unnnyuly 40uUd PLUZ Ukwnp 1250 50.0 40
44300000 Lwyunkp PLCUZ hun 6000 240.0 40
44300000 EjEljunpng PCUZ wnnith 5000 5.0 1
44300000 Ludy PLUZ hunn 2000 60.0 30
44300000 Quiphy PLUZ dbwnp 60 72.0 1200
44300000 Lkpl PLUZ hunn 3000 6.0 2
44300000 gbkuklin PLUZ wupl 3000 12.0 4
plunukip - 796.0 --
Ouwnwympinih
98391200 Pulynpuiljul Swnuympynih 200,0
pugudkip 1801,4

Opwgph wijwbnud Qpuyjhtt junnygkph
owhwgnpdmu b wwhuywbhmd

Pwudht 06 unudp 06 nuu 01 dpwghp 55




Ownuwjnipjnil

65000000 opwidunuljupupdwb ydwp PCUZ
Uyjpulp
44110000 Chuwiyniph dknp phpnud udknt PLUZ
oph unnnuljkph
JEpwinpnguwi hwdwp
pluutlp
Qlunwd shwbinhuwgnn dwjuu
99000000 wouumnuupd
plgultip
Opwqph wijubnudp
Yy nwpwdplbkph hhutnud b wwhuywbnud
Pwdht 05 hunudp 06 nuu 01
77211700 Ownkp PCUZ
Cunudkup
Opwgph winjwinuip Lu gy pnguljub
huununmpjub hhytwinpngnud
Pwdht 09 hunuip 06 nuiu 01 £LUZ
~ Ugluunnwmip
4530000
Chnulkup PCUZ
Opwqph winjuwinivp Uubwjpn-plnniyw dwélh
yEpwunpngmu
Pwdhti 04 funudp 05 guu 01
Unyypuitip
09134200 Thqbjuyhtt Juinkjhp /wdwnwhty/ PLCUZ
09121700 Puwljub quq PLUZ
Ughauninutip
45231187 Uudwpnuuyuinnd PCUZ
plnuiltlp

Upwgph wijuinuip Gwpyuljub pmgkh
wuwhnuunnuhtt oty
Pwdhl 11 junudip 01 juu 02

punqudkup
l

Opwgph winjuwinuip  $ntpwyht pmgkh
wwhmuwnuhl $nlin
Pwdht 11 junudp 01 nuu 02

punuikip

4584,843

CLTUUTLE

64749,243




